



# Stability for certain subclasses of harmonic univalent functions

Ali Ebadian\*, Saman Azizi, Shahram Najafzadeh

Department of Mathematics, Payame Noor University, P.O. BOX 19395-3697, Tehran, Iran

(Communicated by M. Eshaghi)

---

## Abstract

In this paper, the problem of stability for certain subclasses of harmonic univalent functions is investigated. Some lower bounds for the radius of stability of these subclasses are found.

*Keywords:* Stability of the convolution; Integral convolution; Harmonic univalent; starlike and convex functions.

*2010 MSC:* Primary 39B62; Secondary 42A85.

---

## 1. Introduction and preliminaries

A complex-valued harmonic function  $F = u + iv$  in the unit disk  $\mathbb{D} = \{z : |z| < 1\}$  admits the decomposition  $F = h + \bar{g}$ , where both  $h$  and  $g$  are analytic in  $\mathbb{D}$  (see [9]). Here  $h$  and  $g$  are referred to as analytic and co-analytic parts of  $f$ . A complex-valued harmonic function  $F(z) = h(z) + \overline{g(z)}$  is locally univalent if and only if the Jacobian  $J_F(z) = |h'(z)|^2 - |g'(z)|^2$  is non-vanishing in  $\mathbb{D}$ . The reader is referred to [9, 11] for the properties of harmonic functions.

Let  $\mathcal{H}$  be the class of complex-valued harmonic functions in  $\mathbb{D}$  such that  $F(0) = 0$  and  $F_z(0) = 1$ . Then every function  $F \in \mathcal{H}$  can be expressed as the form:

$$F(z) = h(z) + \overline{g(z)} = z + \sum_{n=2}^{\infty} a_n z^n + \overline{\sum_{n=1}^{\infty} b_n z^n}. \quad (1.1)$$

---

\*Corresponding author

*Email addresses:* [ebadian.ali@gmail.com](mailto:ebadian.ali@gmail.com) (Ali Ebadian), [azizi86@yahoo.com](mailto:azizi86@yahoo.com) (Saman Azizi), [najafzadeh1234@yahoo.ie](mailto:najafzadeh1234@yahoo.ie) (Shahram Najafzadeh)

The class of functions  $F \in \mathcal{H}$  that are sense-preserving and univalent in  $\mathbb{D}$  is denoted by  $\mathcal{S}_H$ . Also, let

$$\mathcal{S}_H^* = \{F \in \mathcal{S}_H : F(\mathbb{D}) \text{ is a starlike domain with respect to the origin}\}.$$

Functions in  $\mathcal{S}_H^*$  are called starlike functions. In the sequel, we also need

$$\mathcal{H}_1 = \{F \in \mathcal{H} : b_1 = F_{\bar{z}}(0) = 0\}, \quad \mathcal{S}_H^0 = \{F \in \mathcal{S}_H : F_{\bar{z}}(0) = 0\}, \quad \mathcal{S}_H^{*0} = \{F \in \mathcal{S}_H^* : F_{\bar{z}}(0) = 0\}.$$

Harmonic starlikeness is not a hereditary property, because it is possible that for  $f \in \mathcal{S}_H^*$ ,  $f(|z| < r)$  is not necessarily starlike for each  $r < 1$  (see [11]).

**Definition 1.1.** A harmonic mapping  $f \in \mathcal{H}$  is said to be *fully starlike* (resp. *fully convex*) if each  $|z| < r$  is mapped onto a starlike (resp. convex) domain (see [8]).

Fully convex mappings are known to be fully starlike but not the converse as the function  $f(z) = z + (1/n)\bar{z}^n$  ( $n \geq 2$ ) shows.

It is easy to see that the harmonic koebe function  $K$  with the dilation  $w(z) = z$  is not fully starlike, although  $K = H + \bar{G} \in \mathcal{S}_H^{*0}$ , where

$$H(z) = \frac{z - \frac{1}{2}z^2 + \frac{1}{6}z^3}{(1 - z)^3}, \quad G(z) = \frac{\frac{1}{2}z^2 + \frac{1}{6}z^3}{(1 - z)^3}.$$

For further details, we refer to [8].

Let  $C_H^0$  denote the class of harmonic, univalent, convex functions  $F$  of the form (1.1) with  $b_1 = 0$ . It is known [9] that the below sharp inequalities hold:

$$|a_n| \leq \frac{n + 1}{2}, \quad |b_n| \leq \frac{n - 1}{2}. \tag{1.2}$$

In the sequel, we need

$$\mathcal{F}\mathcal{S}_H^{*0} = \{F \in \mathcal{S}_H^0 : F \text{ is fully starlike in } \mathbb{D}\}, \quad \mathcal{C}_H^1 = \{F \in \mathcal{S}_H : \operatorname{Re} F_z(z) > |F_{\bar{z}}(z)| \text{ in } \mathbb{D}\}.$$

**Definition 1.2.** Let  $0 \leq \lambda \leq 1$ . A function  $F \in \mathcal{H}_1$  with the form (1.1) is said to be in the class  $HS^0(\lambda)$  if

$$\sum_{n=2}^{\infty} n(\lambda n + 1 - \lambda)(|a_n| + |b_n|) \leq 1.$$

The class  $HS^0(\lambda)$  is a special case of the class  $HS_p^0(\lambda)$  of polyharmonic mappings (see [7]). If  $\lambda = 0$  or  $\lambda = 1$ , then the class  $HS^0(\lambda)$  reduces to  $HS^0$  or  $HC^0$ , respectively. The classes  $HS^0$  and  $HC^0$  introduced by Avci and Złotkiewicz [3].

If

$$F(z) = z + \sum_{n=2}^{\infty} (a_n z^n + \bar{b}_n \bar{z}^n),$$

and

$$G(z) = z + \sum_{n=2}^{\infty} (A_n z^n + \bar{B}_n \bar{z}^n),$$

then the *convolution*  $F * G$  is defined to be the function

$$(F * G)(z) = z + \sum_{n=2}^{\infty} (a_n A_n z^n + \overline{b_n B_n z^n}), \tag{1.3}$$

while the *integral convolution* is defined by

$$(F \diamond G)(z) = z + \sum_{n=2}^{\infty} \left( \frac{a_n A_n}{n} z^n + \frac{\overline{b_n B_n}}{n} z^n \right). \tag{1.4}$$

See [10] for similar operators defined on the class of analytic functions.

For  $V \subset \mathcal{H}_1$ , its dual  $V^*$  is defined as

$$\mathcal{V}^* = \{G \in \mathcal{H}_1 : (F * G)(z) \neq 0, \text{ for all } z \in \mathbb{D}, f \in \mathcal{V}\},$$

where  $\mathbb{D} = \mathbb{D} \setminus \{0\}$ . We say that  $V$  is a dual class if  $V = W^*$  for some  $W \subset \mathcal{H}_1$  (see [2]). Denote by  $\Sigma$  the dual set of  $\mathcal{S}_H^{*0}$ . Then for  $F \in \mathcal{H}_1$ , we have

$$F \in \mathcal{S}_H^{*0} \iff (F * H)(z) \neq 0, \forall H \in \Sigma, \forall z \in \mathbb{D}.$$

Following Goodman [12] and Ruscheweyh [13], we define the set  $\delta$ -neighborhood of  $F = h + \bar{g} \in \mathcal{H}_1$  by

$$N_\delta(F) = \left\{ G(z) : G(z) = z + \sum_{n=2}^{\infty} (A_n z^n + \overline{B_n z^n}), \sum_{n=2}^{\infty} n(|a_n - A_n| + |b_n - B_n|) \leq \delta, \delta \geq 0 \right\}$$

(see [14]). Also, let

$$\tilde{N}_\delta(F) = \left\{ G(z) : G(z) = z + \sum_{n=2}^{\infty} (A_n z^n + \overline{B_n z^n}), \sum_{n=2}^{\infty} n^2(|a_n - A_n| + |b_n - B_n|) \leq \delta, \delta \geq 0 \right\}.$$

Clearly, we have  $\tilde{N}_\delta(F) \subset N_\delta(F)$ .

By  $N_\delta(A)$ ,  $A \subset \mathcal{H}_1$ , we denote the union of all neighborhoods  $N_\delta(F)$  with  $F$  ranging over the class  $A$ . And similarly, define  $\tilde{N}_\delta(A) = \cup_{F \in A} \tilde{N}_\delta(F)$ .

Assume that  $A, B$  are subclasses of the class  $\mathcal{H}_1$ . Then the set of all functions  $F * G$  and  $F \diamond G$ , where  $F \in A$  and  $G \in B$ , will be denoted by  $A * B$  and  $A \diamond B$ , respectively. Let  $A * B \subset C$ , the *convolution* is called *stable* on the pair of classes  $(A, B)$  if there exists  $\delta > 0$  such that  $N_\delta(A) * N_\delta(B) \subset C$  and *unstable* otherwise. Stability of the *integral convolution* is defined in a similar way.

The constant  $\delta$  which characterizes the stability of the *convolution* or *integral convolution* is called the *radius of stability* and it is defined as follows.

**Definition 1.3.** Let  $A, B, C$  be the subclasses of the class  $\mathcal{H}_1$  and  $A * B \subset C$ . Then a constant  $\delta(A * B, C)$ , such that

$$\delta(A * B, C) = \sup\{\delta : N_\delta(A) * N_\delta(B) \subset C\},$$

is called the *radius of stability* of the *convolution* on the pair  $(A, B)$ . And a constant  $\delta(A \diamond B, C)$ , such that

$$\delta(A \diamond B, C) = \sup\{\delta : N_\delta(A) \diamond N_\delta(B) \subset C\},$$

is called the *radius of stability* of the *integral convolution* on the pair  $(A, B)$ .

**Remark 1.4.** In a same way as in the above we have

$$\tilde{\delta}(A * B, C) = \sup\{\delta : \tilde{N}_\delta(A) * \tilde{N}_\delta(B) \subset C\}$$

$$\tilde{\delta}(A \diamond B, C) = \sup\{\delta : \tilde{N}_\delta(A) \diamond \tilde{N}_\delta(B) \subset C\}.$$

Recently, in [1, 4, 5], the authors investigated the problem of stability for certain classes of analytic functions. In this paper, we investigate the problem of stability for certain classes of harmonic univalent functions. We find the lower bounds for the radius of stability of these classes.

**2. main results**

In order to establish our main theorems, we shall require the following lemmas.

**Lemma 2.1.** (see [6]) Let  $F = h + \bar{g} \in \mathcal{S}_H^0$ . Then  $F$  is fully starlike in  $\mathbb{D}$  if and only if

$$h(z) * A(z) - \overline{g(z)} * \overline{B(z)} \neq 0 \quad \text{for } |\zeta| = 1, 0 < |z| < 1,$$

where

$$A(z) = \frac{z + ((\zeta - 1)/2)z^2}{(1 - z)^2} \quad \text{and} \quad B(z) = \frac{\bar{\zeta}z - ((\bar{\zeta} - 1)/2)z^2}{(1 - z)^2}. \tag{2.1}$$

**Corollary 2.2.** Let  $F = h + \bar{g} \in \mathcal{S}_H^0$ . Then  $F \in \mathcal{FS}_H^{*0}$  if and only if  $(F * H)(z) \neq 0$  for  $|\zeta| = 1, z \in \mathbb{D}$ , where  $H(z) = A(z) - \overline{B(z)}$  and  $A(z), B(z)$  are given by (2.1).

**Proof .** From Lemma 2.1 and the definition of the convolution of harmonic functions, immediately, the result follows.  $\square$

**Corollary 2.3.** Suppose that

$$\Sigma = \left\{ H(z) \in \mathcal{H}_1 : H(z) = A(z) - \overline{B(z)} \right\},$$

where  $A(z)$  and  $B(z)$  are given by (2.1). Then  $\mathcal{FS}_H^{*0} = \Sigma^*$ .

**Proof .** The proof is obvious. In view of the definition of dual set and Corollary 2.2 , we can easily obtain the result.  $\square$

**Lemma 2.4.** Let  $H(z) = z + \sum_{n=2}^\infty (e_n z^n + \overline{f_n z^n}) \in \Sigma$ . Then  $|e_n| \leq n$  and  $|f_n| \leq n$ .

**Proof .** Since  $H(z) \in \Sigma$ , then we have  $H(z) = A(z) - \overline{B(z)}$ . From the series expansion  $A(z)$  and  $B(z)$  we obtain

$$\begin{aligned} H(z) &= A(z) - \overline{B(z)} \\ &= \frac{z + ((\zeta - 1)/2)z^2}{(1 - z)^2} - \overline{\frac{\bar{\zeta}z - ((\bar{\zeta} - 1)/2)z^2}{(1 - z)^2}} \\ &= z + \sum_{n=2}^\infty \left( n + \frac{(n - 1)(\zeta - 1)}{2} \right) z^n - \sum_{n=2}^\infty \left( n\bar{\zeta} - \frac{(n - 1)(\zeta - 1)}{2} \right) \bar{z}^n \\ &= z + \sum_{n=2}^\infty \left( \left( n + \frac{(n - 1)(\zeta - 1)}{2} \right) z^n - \left( n\bar{\zeta} - \frac{(n - 1)(\zeta - 1)}{2} \right) \bar{z}^n \right). \end{aligned}$$

Therefore, we have

$$e_n = n + \frac{(n-1)(\zeta-1)}{2}, \quad \bar{f}_n = n\zeta - \frac{(n-1)(\zeta-1)}{2}.$$

Consequently,

$$\begin{aligned} |e_n| &= \left| n + \frac{(n-1)(\zeta-1)}{2} \right| \\ &= \left| \frac{2n + (n-1)(\zeta-1)}{2} \right| \\ &= \left| \frac{n+1 + (n-1)\zeta}{2} \right| \\ &\leq \frac{n+1 + (n-1)|\zeta|}{2} \\ &\leq \frac{n+1 + n-1}{2} = n, \end{aligned}$$

and similarly, we get  $|f_n| \leq n$ . This completes the proof.  $\square$

**Lemma 2.5.** (see [6]) Let  $F = h + \bar{g}$  be a harmonic function of the form (1.1) with  $b_1 = g'(0) = 0$ . If

$$\sum_{n=2}^{\infty} n(|a_n| + |b_n|) \leq 1,$$

then  $F \in \mathcal{C}_H^1 \cap \mathcal{S}_H^{*0}$ . Moreover,  $F$  is fully starlike in  $\mathbb{D}$ . Consequently,  $F \in \mathcal{FS}_H^{*0}$ .

**Lemma 2.6.** Let  $F = h + \bar{g} \in HS^0(\lambda)$  be of the form (1.1), then

$$\sum_{n=2}^{\infty} n(|a_n| + |b_n|) \leq \frac{1}{\lambda+1},$$

and

$$\sum_{n=2}^{\infty} n^2(|a_n| + |b_n|) \leq \frac{1}{\lambda}.$$

**Proof .** Since  $0 \leq \lambda \leq 1$  and  $\lambda n + 1 - \lambda$  is an increasing function of  $n$  ( $n \geq 2$ ), from the definition of the class  $HS^0(\lambda)$ , the result follows.  $\square$

**Lemma 2.7.** Let  $F = h + \bar{g} \in HS^0(\lambda)$  be of the form (1.1), then

$$|a_n| \leq \frac{1}{2(\lambda+1)}, \quad |b_n| \leq \frac{1}{2(\lambda+1)}.$$

**Proof .** From Lemma 2.6, we obtain

$$\sum_{n=2}^{\infty} n(|a_n| + |b_n|) \leq \frac{1}{\lambda+1},$$

and therefore

$$\sum_{n=2}^{\infty} n|a_n| \leq \frac{1}{\lambda+1}, \quad (2.2)$$

and

$$\sum_{n=2}^{\infty} n|b_n| \leq \frac{1}{\lambda+1}. \quad (2.3)$$

From the inequalities (2.2) and (2.3), it follows that

$$\sum_{n=2}^{\infty} |a_n| \leq \frac{1}{2(\lambda+1)},$$

and

$$\sum_{n=2}^{\infty} |b_n| \leq \frac{1}{2(\lambda+1)}.$$

The above inequalities, give the desired result.  $\square$

**Lemma 2.8.** (see [7]) Suppose that  $G(z) = z + \sum_{n=2}^{\infty} (A_n z^n + \overline{B_n z^n}) \in C_H^0$  and  $F \in HS^0(\lambda)$ . Then for  $1/2 \leq \lambda \leq 1$ , the convolution  $F * G$  is univalent and starlike, and the integral convolution  $F \diamond G$  is convex.

**Corollary 2.9.** For  $1/2 \leq \lambda \leq 1$ , we have

$$C_H^0 * HS^0(\lambda) \subseteq \mathcal{FS}_H^{*0}, \quad C_H^0 \diamond HS^0(\lambda) \subseteq C_H^0.$$

**Lemma 2.10.** For  $0 \leq \lambda \leq 1$ , we have

- (i)  $C_H^0 \diamond HS^0(\lambda) \subseteq \mathcal{FS}_H^{*0}$ .
- (ii)  $HS^0(\lambda) * HS^0(\lambda) \subseteq \mathcal{FS}_H^{*0}$ .
- (iii)  $HC^0 * HS^0(\lambda) \subseteq \mathcal{FS}_H^{*0}$ .
- (iv)  $HS^0(\lambda) \diamond HS^0(\lambda) \subseteq \mathcal{FS}_H^{*0}$ .
- (v)  $HC^0 \diamond HS^0(\lambda) \subseteq \mathcal{FS}_H^{*0}$ .

**Proof .** We only prove the parts (i) and (ii). The other parts are proved in a similar way.

(i) Let  $F(z) = z + \sum_{n=2}^{\infty} (A_n z^n + \overline{B_n z^n}) \in C_H^0$  and  $G(z) = z + \sum_{n=2}^{\infty} (a_n z^n + \overline{b_n z^n}) \in HS^0(\lambda)$ . Then for  $F \diamond G$ , by Lemma 2.6 and the inequalities (1.2), we obtain

$$\begin{aligned} \sum_{n=2}^{\infty} n \left( \left| \frac{a_n A_n}{n} \right| + \left| \frac{b_n B_n}{n} \right| \right) &\leq \sum_{n=2}^{\infty} n \left( \frac{n+1}{2n} |a_n| + \frac{n-1}{2n} |b_n| \right) \\ &\leq \sum_{n=2}^{\infty} n (|a_n| + |b_n|) \\ &\leq \frac{1}{\lambda+1} \leq 1. \end{aligned}$$

Now, from Lemma 2.5, the result follows.

(ii) If  $F, G \in HS^0(\lambda)$ , then for  $F * G$ , using Lemma 2.6 and Lemma 2.7, we obtain

$$\begin{aligned} \sum_{n=2}^{\infty} n (|a_n A_n| + |b_n B_n|) &\leq \frac{1}{2(\lambda + 1)} \sum_{n=2}^{\infty} n (|a_n| + |b_n|) \\ &\leq \frac{1}{2} \sum_{n=2}^{\infty} n (|a_n| + |b_n|) \\ &\leq \frac{1}{2(\lambda + 1)} < 1. \end{aligned}$$

Hence, by Lemma 2.5,  $F * G \in \mathcal{FS}_H^{*0}$ .  $\square$

**Theorem 2.11.** Let  $0 \leq \lambda \leq 1$ . For  $0 \leq \delta \leq \sqrt{2} - \frac{1}{\lambda + 1}$ , we have

$$N_\delta(HS^0(\lambda)) * N_\delta(HS^0(\lambda)) \subset \mathcal{FS}_H^{*0}.$$

**Proof .** Let

$$F_0(z) = z + \sum_{n=2}^{\infty} (a_{0n} z^n + \bar{b}_{0n} \bar{z}^n) \in HS^0(\lambda),$$

$$G_0(z) = z + \sum_{n=2}^{\infty} (c_{0n} z^n + \bar{d}_{0n} \bar{z}^n) \in HS^0(\lambda)$$

and

$$\begin{aligned} F(z) &= z + \sum_{n=2}^{\infty} (a_n z^n + \bar{b}_n \bar{z}^n) \in N_\delta(F_0), G(z) \\ &= z + \sum_{n=2}^{\infty} (c_n z^n + \bar{d}_n \bar{z}^n) \in N_\delta(G_0), \end{aligned}$$

$$H(z) = z + \sum_{n=2}^{\infty} (e_n z^n + \bar{f}_n \bar{z}^n) \in \Sigma.$$

We want to show that

$$(F * G * H)(z) \neq 0 \quad (H \in \Sigma, z \in \mathbb{D}).$$

By the identity

$$F * G * H = F_0 * G_0 * H + F_0 * (G - G_0) * H + (F - F_0) * G_0 * H + (F - F_0) * (G - G_0) * h,$$

we obtain

$$\begin{aligned} |(F * G * H)(z)| &\geq |(F_0 * G_0 * H)(z)| - |(F_0 * (G - G_0) * H)(z)| \\ &\quad - |((F - F_0) * G_0 * H)(z)| - |((F - F_0) * (G - G_0) * H)(z)|. \end{aligned} \tag{2.4}$$

Since  $G_0 \in HS^0(\lambda)$ , so by Lemma 2.7 we have  $|c_{0n}| \leq \frac{1}{2(\lambda+1)}$  and  $|d_{0n}| \leq \frac{1}{2(\lambda+1)}$ . Moreover from Lemma 2.4,  $|e_n| \leq n$  and  $|f_n| \leq n$ . Therefore, using Lemma 2.6, we obtain

$$\begin{aligned}
|(F_0 * G_0 * H)(z)| &= \left| z + \sum_{n=2}^{\infty} (a_{0n}c_{0n}e_n z^n + \overline{b_{0n}d_{0n}f_{0n}z^n}) \right| \\
&\geq |z| \left[ 1 - \sum_{n=2}^{\infty} (|a_{0n}||c_{0n}||e_n||z|^{n-1} + |b_{0n}||d_{0n}||f_n||z|^{n-1}) \right] \\
&> |z| \left[ 1 - \sum_{n=2}^{\infty} (|a_{0n}||c_{0n}||e_n| + |b_{0n}||d_{0n}||f_n|) \right] \\
&\geq |z| \left[ 1 - \frac{1}{2(\lambda+1)} \sum_{n=2}^{\infty} n(|a_{0n}| + |b_{0n}|) \right] \\
&\geq |z| \left[ 1 - \frac{1}{2(\lambda+1)^2} \right] \\
&= |z| \left[ \frac{2(\lambda+1)^2 - 1}{2(\lambda+1)^2} \right]. \tag{2.5}
\end{aligned}$$

On the other hand, from  $F \in N_\delta(F_0)$  and  $G \in N_\delta(G_0)$ , we conclude that

$$\begin{aligned}
|(F - F_0) * G_0 * H)(z)| &= \left| \sum_{n=2}^{\infty} (c_{0n}e_n(a_n - a_{0n})z^n + \overline{d_{0n}f_n(b_n - b_{0n})z^n}) \right| \\
&< |z| \frac{1}{2(\lambda+1)} \sum_{n=2}^{\infty} n(|a_n - a_{0n}| + |b_n - b_{0n}|) \\
&\leq |z| \frac{\delta}{2(\lambda+1)}. \tag{2.6}
\end{aligned}$$

Similarly, we get

$$|F_0 * (G - G_0) * H)(z)| < |z| \frac{\delta}{2(\lambda+1)}, \tag{2.7}$$

and

$$|(F - F_0) * (G - G_0) * H)(z)| < |z| \frac{\delta^2}{2}. \tag{2.8}$$

By virtue of (2.5),(2.6),(2.7) and (2.8), inequality (2.4) gives

$$|(F * G * H)(z)| \geq |z| \left[ \frac{2(\lambda+1)^2 - 1}{2(\lambda+1)^2} - \frac{\delta}{\lambda+1} - \frac{\delta^2}{2} \right]. \tag{2.9}$$

The right side of (2.9) is non-negative whenever

$$0 \leq \delta \leq \sqrt{2} - \frac{1}{\lambda+1}.$$

□



**Corollary 2.12.** For  $0 \leq \lambda \leq 1$ , we have

$$\delta(HS^0(\lambda) * HS^0(\lambda), \mathcal{FS}_H^{*0}) \geq \sqrt{2} - \frac{1}{\lambda + 1}.$$

**Corollary 2.13.** We have

$$\delta(HS^0 * HS^0, \mathcal{FS}_H^{*0}) \geq \sqrt{2} - 1.$$

**Corollary 2.14.** We have

$$\delta(HC^0 * HC^0, \mathcal{FS}_H^{*0}) \geq \frac{2\sqrt{2} - 1}{2}.$$

**Theorem 2.15.** Let  $0 \leq \lambda \leq 1$ . For  $0 \leq \delta \leq \sqrt{\left[\frac{\lambda + 3}{4(\lambda + 1)}\right]^2 + \frac{4\lambda + 3}{2(\lambda + 1)} - \frac{\lambda + 3}{4(\lambda + 1)}}$ , we have

$$N_\delta(HC^0) * N_\delta(HS^0(\lambda)) \subset \mathcal{FS}_H^{*0}.$$

**Proof .** Let

$$F_0(z) = z + \sum_{n=2}^{\infty} (a_{0n}z^n + \bar{b}_{0n}\bar{z}^n) \in HC^0,$$

$$G_0(z) = z + \sum_{n=2}^{\infty} (c_{0n}z^n + \bar{d}_{0n}\bar{z}^n) \in HS^0(\lambda)$$

and

$$F(z) = z + \sum_{n=2}^{\infty} (a_nz^n + \bar{b}_n\bar{z}^n) \in N_\delta(F_0), G(z) = z + \sum_{n=2}^{\infty} (c_nz^n + \bar{d}_n\bar{z}^n) \in N_\delta(G_0),$$

$$H(z) = z + \sum_{n=2}^{\infty} (e_nz^n + \bar{f}_n\bar{z}^n) \in \Sigma.$$

We need to show that

$$(F * G * H)(z) \neq 0 \quad (H \in \Sigma, z \in \mathbb{D}).$$

Using the same method as in the proof of Theorem 2.11, we obtain

$$|(F_0 * G_0 * H)(z)| > |z| \left[ \frac{4\lambda + 3}{4(\lambda + 1)} \right],$$

$$|(F - F_0) * G_0 * H)(z)| < |z| \frac{\delta}{4},$$

$$|F_0 * (G - G_0) * H)(z)| < |z| \frac{\delta}{2(\lambda + 1)},$$

and

$$|(F - F_0) * (G - G_0) * H)(z)| < |z| \frac{\delta^2}{2}.$$

The remainder of the proof is similar to that of Theorem 2.11 and we omit the details.  $\square$

**Corollary 2.16.** For  $0 \leq \lambda \leq 1$ , we have

$$\delta(HC^0 * HS^0(\lambda), \mathcal{FS}_H^{*0}) \geq \sqrt{\left[\frac{\lambda+3}{4(\lambda+1)}\right]^2 + \frac{4\lambda+3}{2(\lambda+1)}} - \frac{\lambda+3}{4(\lambda+1)}.$$

**Corollary 2.17.** We have

$$\delta(HC^0 * HS^0, \mathcal{FS}_H^{*0}) \geq \frac{\sqrt{33}-3}{4}.$$

Using the same techniques as in the proof of Theorems 2.11 and 2.15, we obtain the following theorems and we omit the details.

**Theorem 2.18.** Let  $0 \leq \lambda \leq 1$ . For  $0 \leq \delta \leq 2 - \frac{1}{\lambda+1}$ , we have

$$N_\delta(HS^0(\lambda)) \diamond N_\delta(HS^0(\lambda)) \subset \mathcal{FS}_H^{*0}.$$

**Theorem 2.19.** Let  $0 \leq \lambda \leq 1$ . For  $0 \leq \delta \leq \sqrt{\left[\frac{\lambda+3}{4(\lambda+1)}\right]^2 + \frac{8\lambda+7}{2(\lambda+1)}} - \frac{\lambda+3}{4(\lambda+1)}$ , we have

$$N_\delta(HC^0) \diamond N_\delta(HS^0(\lambda)) \subset \mathcal{FS}_H^{*0}.$$

From Theorems 2.18 and 2.19, we obtain the following results.

**Corollary 2.20.** Let  $0 \leq \lambda \leq 1$ . We have

$$\delta(HS^0(\lambda) \diamond HS^0(\lambda), \mathcal{FS}_H^{*0}) \geq 2 - \frac{1}{\lambda+1}.$$

**Corollary 2.21.** For  $0 \leq \lambda \leq 1$ , we have

$$\delta(HC^0 \diamond HS^0(\lambda), \mathcal{FS}_H^{*0}) \geq \sqrt{\left[\frac{\lambda+3}{4(\lambda+1)}\right]^2 + \frac{8\lambda+7}{2(\lambda+1)}} - \frac{\lambda+3}{4(\lambda+1)}.$$

**Corollary 2.22.** We have

$$\delta(HS^0 \diamond HS^0, \mathcal{FS}_H^{*0}) \geq 1.$$

**Corollary 2.23.** We have

$$\delta(HC^0 \diamond HC^0, \mathcal{FS}_H^{*0}) \geq \frac{3}{2}.$$

**Corollary 2.24.** We have

$$\delta(HC^0 \diamond HS^0, \mathcal{FS}_H^{*0}) \geq \frac{\sqrt{65}-3}{4}.$$

**Theorem 2.25.** Let  $1/2 \leq \lambda \leq 1$ . For  $0 \leq \delta \leq \sqrt{\left[\frac{2\lambda+3}{\lambda+1}\right]^2 + \frac{2(2\lambda^2-1)}{\lambda(\lambda+1)}} - \frac{2\lambda+3}{\lambda+1}$ , we have

$$\tilde{N}_\delta(C_H^0) * \tilde{N}_\delta(HS^0(\lambda)) \subset \mathcal{FS}_H^{*0}.$$

**Proof .** Let

$$F_0(z) = z + \sum_{n=2}^{\infty} (a_{0n}z^n + \bar{b}_{0n}\bar{z}^n) \in C_H^0,$$

$$G_0(z) = z + \sum_{n=2}^{\infty} (c_{0n}z^n + \bar{d}_{0n}\bar{z}^n) \in HS^0(\lambda)$$

and

$$F(z) = z + \sum_{n=2}^{\infty} (a_n z^n + \bar{b}_n \bar{z}^n) \in N_\delta(F_0), G(z) = z + \sum_{n=2}^{\infty} (c_n z^n + \bar{d}_n \bar{z}^n) \in N_\delta(G_0),$$

$$H(z) = z + \sum_{n=2}^{\infty} (e_n z^n + \bar{f}_n \bar{z}^n) \in \Sigma.$$

We need to prove that

$$(F * G * H)(z) \neq 0 (H \in \Sigma, z \in \mathbb{D}).$$

From Lemmas 2.4 and 2.6 and the relation (1.2), we have

$$\begin{aligned} |(F_0 * G_0 * H)(z)| &= \left| z + \sum_{n=2}^{\infty} (a_{0n}c_{0n}e_n z^n + \overline{b_{0n}d_{0n}f_{0n}} \bar{z}^n) \right| \\ &\geq |z| \left[ 1 - \sum_{n=2}^{\infty} (|a_{0n}||c_{0n}||e_n||z|^{n-1} + |b_{0n}||d_{0n}||f_n||z|^{n-1}) \right] \\ &> |z| \left[ 1 - \sum_{n=2}^{\infty} (|a_{0n}||c_{0n}||e_n| + |b_{0n}||d_{0n}||f_n|) \right] \\ &\geq |z| \left[ 1 - \sum_{n=2}^{\infty} n \left( \frac{n+1}{2} |c_{0n}| + \frac{n-1}{2} |d_{0n}| \right) \right] \\ &\geq |z| \left[ 1 - \frac{n(n+1)}{2} \sum_{n=2}^{\infty} (|c_{0n}| + |d_{0n}|) \right] \\ &= |z| \left[ 1 - \frac{1}{2} \sum_{n=2}^{\infty} n^2 (|c_{0n}| + |d_{0n}|) + \sum_{n=2}^{\infty} n (|c_{0n}| + |d_{0n}|) \right] \\ &\geq |z| \left[ 1 - \frac{1}{2} \left[ \frac{1}{\lambda} + \frac{1}{\lambda+1} \right] \right] \\ &= |z| \left[ \frac{2\lambda^2-1}{2\lambda(\lambda+1)} \right]. \end{aligned}$$

In the same way as in the proof of Theorem 2.11, we get

$$|(F - F_0) * G_0 * H)(z)| < \frac{\delta|z|}{2(\lambda+1)},$$

$$|F_0 * (G - G_0) * H(z)| < \delta|z|,$$

and

$$|(F - F_0) * (G - G_0) * H(z)| < \frac{\delta^2|z|}{4}.$$

The remainder of the proof is similar to that of Theorem 2.11.  $\square$

**Corollary 2.26.** For  $1/2 \leq \lambda \leq 1$ , we have

$$\tilde{\delta}(C_H^0 * HS^0(\lambda), \mathcal{FS}_H^{*0}) \geq \sqrt{\left[\frac{2\lambda + 3}{\lambda + 1}\right]^2 + \frac{2(2\lambda^2 - 1)}{\lambda(\lambda + 1)}} - \frac{2\lambda + 3}{\lambda + 1}.$$

**Corollary 2.27.** We have

$$\tilde{\delta}(C_H^0 * HC^0, \mathcal{FS}_H^{*0}) \geq \frac{\sqrt{29} - 5}{2}.$$

Using the same techniques as in the proof of Theorems 2.25, we obtain the following theorem and we omit the details.

**Theorem 2.28.** Let  $0 \leq \lambda \leq 1$ . For  $0 \leq \delta \leq \sqrt{\left[\frac{8\lambda + 9}{\lambda + 1}\right]^2 + \frac{4(4\lambda + 1)}{\lambda + 1}} - \frac{8\lambda + 9}{\lambda + 1}$ , we have

$$\tilde{N}_\delta(C_H^0) \diamond \tilde{N}_\delta(HS^0(\lambda)) \subset \mathcal{FS}_H^{*0}.$$

**Corollary 2.29.** For  $0 \leq \lambda \leq 1$ , we have

$$\tilde{\delta}(C_H^0 \diamond HS^0(\lambda), \mathcal{FS}_H^{*0}) \geq \sqrt{\left[\frac{8\lambda + 9}{\lambda + 1}\right]^2 + \frac{4(4\lambda + 1)}{\lambda + 1}} - \frac{8\lambda + 9}{\lambda + 1}.$$

**Corollary 2.30.** We have

$$\tilde{\delta}(C_H^0 \diamond HS^0, \mathcal{FS}_H^{*0}) \geq \sqrt{85} - 9.$$

**Corollary 2.31.** We have

$$\tilde{\delta}(C_H^0 \diamond HC^0, \mathcal{FS}_H^{*0}) \geq \frac{\sqrt{329} - 17}{2}.$$

## References

- [1] R. Aghalary, A. Ebadian and M. Mafakheri, *Stability for the class of uniformly starlike functions with respect to symmetric points*, Rendiconti del Circolo Matematico di Palermo 63 (2014) 173–180.
- [2] R.M. Ali and S. Ponnusamy, *Linear functionals and the duality principle for harmonic functions*, Math. Nachr., 1–7 (2012)/ DOI 10.1002/mana.201100259.
- [3] Y. Avci and E. Zlotkiewicz, *On harmonic univalent mappings*, Ann. Univ. Mariae Curie-Sklodowska (Sect A) 44 (1990) 1–7.
- [4] U. Bednarz, S. Kanas, *Stability of the integral convolution of  $k$ -uniformly convex and  $k$ -starlike functions*, J. Appl. Anal. 10 (2004) 105–115.

- [5] U. Bednarz and J. Sokól, *On the integral convolution of certain classes of analytic functions*, Taiwanese J. Math. 13 (2009) 1387–1396.
- [6] S.V. Bharanedhar and S. Ponnusamy *Coefficient conditions for harmonic univalent mappings and hypergeometric mappings*, Rocky Mountain J. Math. 44 (2014) 753–777.
- [7] J. Chen, A. Rasila and X. Wang *On polyharmonic univalent mappings*, ArXiv preprint arXiv:1302.2018 (2013).
- [8] M. Chuaqui, P. Duren and B. Osgood, *Curvature properties of planar harmonic mappings*, Comput. Methods Funct. Theory 4 (2004) 127–142.
- [9] J.G. Clunie and T. Sheil-Small, *Harmonic univalent functions*, Ann. Acad. Sci. Fenn. Ser. A.I. 9 (1984) 3–25.
- [10] P. Duren, *Univalent Functions*, Springer-Verlag, New York, 1983.
- [11] P. Duren, *Harmonic Mappings in the Plane*, Cambridge Tracts in Mathematics, 156, Cambridge Univ. Press, Cambridge, 2004.
- [12] A.W. Goodman, *Univalent functions and non-analytic curves*, Proc. Amer. Math. Soc. 8 (1957) 598–601.
- [13] S. Ruscheweyh, *Neighborhoods of univalent functions*, Proc. Amer. Math. Soc. 81 (1981) 521–527.
- [14] E. Yasar and S. Yalcin, *Neighbourhoods of two new classes of harmonic univalent functions with varying arguments*, Math. Slovaca 64 (2014) 1409–1420.